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Q1)
RR (q=3) and FCFS are used as multi-level queue, such that at a decision point (karar verme noktasinda),
if the remaining time of the process is 3 5.
then RR(q=3) is used;

else if the remaining time of the process £5,
then FCFS is used for that process.

(a) Draw Gantt chart for this multi-level queue and
(b) compute the waiting time of each process.

‘ _ Process CPU Burst Time Arrival Time
| |
P1 7 0
P2 6 2
P3 A 5
P4 5 8
P5 8 1

(A: Last digit of your student number + 3)

Assume Azbi43=2F, (il be diffunit b each stueleat )
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